## CANAL STREET PROJECT YORKTOWN, INDIANA RESULTS FOR BID 11/27/18

A total of six bids were received for the above reference project.

Tabulated bid results are attached. Summary as follows:

CONTRACTOR	BASE BID	ALT 1	ALT 2	ALT 3	ALT 4	TOTAL
Calumet	\$3,377,000.00	\$301,070.00	\$27,545.00	\$16,185.00	\$40,000.00	\$3,761,800.00
Milestone	\$3,384,546.00	\$290,960.00	\$134,700.00	\$23,400.00	\$40,000.00	\$3,873,606.00
Schutt-Lookabill	\$3,628,595.43	\$345,405.81	\$104,968.30	\$37,124.10	\$40,000.00	\$4,156,093.64
White	\$3,643,000.00	\$313,355.00	\$30,500.00	\$19,500.00	\$40,000.00	\$4,046,355.00
Morphey	\$4,186,358.00	\$260,302.00	\$29,060.00	\$31,200.00	\$40,000.00	\$4,546,920.00
3D	\$2,845,358.40	\$339,288.50	\$96,521.50	\$10,851.75	\$40,000.00	\$3,332,020.15



Headquarters:

8450 Westfield Blvd., Suite 300 Indianapolis, IN 46240-5920 T 317.713.4615 F 317.713.4616 E bfs@BFSEngr.com www.BFSEngr.com

## **Branch Locations:**

Fort Wayne Jeffersonville Lafayette Merrillville Plainfield

Founded 1961



Butler, Fairman and Seufert, having conducted a review of the bids, recommends that the contract be awarded to 3D Construction, the low bidder for the total of the Base Bid and Alternate Bids 1-4, for the amount of \$3,332,020.15.

Butler, Fairman, & Seufert Engineers

Doug Valmore, P.E. Project Manager

Attachment: Bid Tabulation

## BUTLER, FAIRMAN & SEUFERT, INC. (317) 713-4615

PROJECT: YORKTOWN CANAL STREET



BIDS RECEIVED ON: 11/27/18

WYOCF PREPARATION AND   1					ENGINEER'S	SESTIMATE	CALUM	ET CIVIL	MILES	TONE	SCH	UTT-	WH	ITE	MOR	PHEY	3	D
Bern No.		BASE BID					CONTRA	ACTORS	CONTR	ACTORS	LOOK	ABILL	CONSTR	UCTION	CONSTR	RUCTION	СОМ	PANY
1   CONSTRUCTION PROPRIERERS   1   LS 815,757.00   \$82,707.00   \$17,000.00   \$15,		<b>5</b>							Unit		Unit		Unit		Unit		Unit	
Common   C	Item No.		Quantity						<b>#</b> 40,000,00		<b>#07 700 00</b>		Фооо ооо оо		Фол ооо оо		<b>#45</b> 400 00	
CLARRING RIGHT OF WAY	1		1					· ·	·				·					
FIXOMATION COMMON   September   Property	-		1		·	<u> </u>			·		· ·							
5   TORRIGON   73   CVS   S000   514,080.00   51.00   52,73.01   573.00   51.00   52,73			1		. ,	· · · · · · · · · · · · · · · · · · ·	· ·	· ·	·		· ·		·		. ,	· · · · · · · · · · · · · · · · · · ·		
STORM WATER MANAGEMENT BUDGET   4200   0.0.   \$1.00   \$4.200.00   \$1.00	· ·					· · · · · · · · · · · · · · · · · · ·		·				·		·		·		·
Note   Preparation and   1   18   \$15,000   \$19,802.00   \$19,802.00   \$10,802.00   \$4,000   \$3,000	5	BORROW	733	CYS	\$20.00	\$14,660.00	\$0.01	\$7.33	\$7.00	\$5,131.00	\$0.01	\$7.33	\$1.00	\$733.00	\$1.00	\$733.00	\$1.00	\$733.00
A	6		4200	DOL	\$1.00	\$4,200.00	\$1.00	\$4,200.00	\$1.00	\$4,200.00	\$1.00	\$4,200.00	\$1.00	\$4,200.00	\$1.00	\$4,200.00	\$1.00	\$4,200.00
9 SUBGRADE TREATMENT, TYPE II 500 SYS \$1500 S525000 S15200 S525000 S15200 S442 S6000 S20 S152000 S4120 S52500 S525	7		1	LS	\$15,000.00	\$15,000.00	\$19,882.00	\$19,882.00	\$4,500.00	\$4,500.00	\$7,941.85	\$7,941.85	\$2,500.00	\$2,500.00	\$3,600.00	\$3,600.00	\$7,319.50	\$7,319.50
The Company of the	8	SUBGRADE TREATMENT, TYPE IC	6417	SYS	\$15.00	\$96,255.00	\$23.50	\$150,799.50	\$17.00	\$109,089.00	\$31.35	\$201,172.95	\$20.00	\$128,340.00	\$32.00	\$205,344.00	\$17.50	\$112,297.50
COMPACTED AGGREGATE NO 53   1292   TON   \$32.00 \$41,344.00 \$25.50 \$32,946.00 \$22.50 \$32,946.00 \$27.22 \$35,168.24 \$20.00 \$25,000 \$25,000 \$340.00 \$340.00 \$32.00 \$370.00 \$40.00 \$32.00 \$370.00 \$40.00 \$32.00 \$370.00 \$40.00 \$32.00 \$370.00 \$40.00 \$32.00 \$370.00 \$40.	9	SUBGRADE TREATMENT, TYPE II	350	SYS	\$15.00	\$5,250.00	\$15.00	\$5,250.00	\$23.50	\$8,225.00	\$24.82	\$8,687.00	\$15.00	\$5,250.00	\$28.00	\$9,800.00	\$18.60	\$6,510.00
17 (PAVEMENT) 18 (CONTRACTED AGGREGATE NO S3 (BASE) 3074 CYS \$50.00 \$183,300.00 \$57,500.00 \$183,000.00 \$54.00 \$17,900.00 \$34.00 \$34.00 \$35,900.00 \$4.00 \$4.00 \$17.00 \$4.	10	STRUCTURE BACKFILL, TYPE 2	5308	CYS	\$50.00	\$265,400.00	\$27.00	\$143,316.00	\$34.00	\$180,472.00	\$48.92	\$259,667.36	\$25.00	\$132,700.00	\$42.00	\$222,936.00	\$33.55	\$178,083.40
MILLING, 1-1/2'   450   SYS   \$15.00   \$8,750.00   \$11.00   \$4,950.00   \$15.00   \$6,750.00   \$18.00   \$8,113.50   \$7,50   \$3,375.00   \$24.00   \$10,800.00   \$11.10   \$4,955.00   \$4,950.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$3,000.00   \$15.00   \$10.00   \$15.00   \$3,755.00   \$3,000.00   \$15.00   \$	11		1292	TON	\$32.00	\$41,344.00	\$25.50	\$32,946.00	\$22.50	\$29,070.00	\$27.22	\$35,168.24	\$20.00	\$25,840.00	\$44.00	\$56,848.00	\$20.65	\$26,679.80
HMA FOR SURFACE, TYPE B   37   TON   \$100.00   \$3,770.00   \$150.00   \$4,900.00   \$150.00   \$5,650.00   \$211.63   \$7,830.31   \$156.00   \$5,725.00   \$202.00   \$7,744.00   \$222.17   \$8,204.75   \$150.00   \$15	12	COMPACTED AGGREGATE NO 53 (BASE)	3074	CYS	\$50.00	\$153,700.00	\$52.00	\$159,848.00	\$42.00	\$129,108.00	\$54.42	\$167,287.08	\$35.00	\$107,590.00	\$23.00	\$70,702.00	\$40.05	\$123,113.70
15   JOINT ADHESIVE, SURFACE   150   LFT   \$0.50   \$75.00   \$9.30   \$45.00   \$40.00   \$800.00   \$11.05   \$157.50   \$0.30   \$45.00   \$11.00   \$115.00   \$11.00   \$115.00   \$11.00   \$115.00   \$11.00   \$115.00   \$11.00	13	MILLING, 1-1/2"	450	SYS	\$15.00	\$6,750.00	\$11.00	\$4,950.00	\$15.00	\$6,750.00	\$18.03	\$8,113.50	\$7.50	\$3,375.00	\$24.00	\$10,800.00	\$11.10	\$4,995.00
16   IOUJID ASPHALT SEALANT   355   LFT   \$0.50   \$177.50   \$0.30   \$116.50   \$15.00   \$355.00   \$1.10   \$355.00   \$1.10   \$355.00   \$1.10   \$355.00   \$1.25   \$450.00   \$450.00   \$	14	HMA FOR SURFACE, TYPE B	37	TON	\$100.00	\$3,700.00	\$135.00	\$4,995.00	\$150.00	\$5,550.00	\$211.63	\$7,830.31	\$155.00	\$5,735.00	\$202.00	\$7,474.00	\$221.75	\$8,204.75
17   ASPHALT FOR TACK COAT	15	JOINT ADHESIVE, SURFACE	150	LFT	\$0.50	\$75.00	\$0.30	\$45.00	\$4.00	\$600.00	\$1.05	\$157.50	\$0.30	\$45.00	\$1.00	\$150.00	\$1.10	\$165.00
18   PCCP, 9 IN.   2966   SYS   \$85.00   \$282,110.00   \$43.00   \$142,05   \$242,114.00   \$46.36   \$137,503.76   \$50.00   \$177,960.00   \$50.00   \$148,300.00   \$18.85   \$183,447.10   \$19.00   \$	16	LIQUID ASPHALT SEALANT	355	LFT	\$0.50	\$177.50	\$0.30	\$106.50	\$1.00	\$355.00	\$1.05	\$372.75	\$0.30	\$106.50	\$1.00	\$355.00	\$1.10	\$390.50
19   PCCP, 91 INI, COLDRED   330   SYS   \$100.00   \$39,000.00   \$105.00   \$40,950.00   \$144.00   \$54,450.00   \$544,460.00   \$44,460.00   \$32,455.50   \$20   D-1 CONTRACTION JOINT   \$212   LFT   \$18.00   \$39,816.00   \$10.25   \$22,673.00   \$18.00   \$39,816.00   \$12.65   \$22,673.00   \$11.00   \$24,460.00   \$24,332.00   \$38.80   \$39,846.00   \$22.50   \$22.500   \$80,100.00   \$22.500   \$80,000.00   \$22.500   \$22.500   \$80,000.00   \$22.500   \$22.500   \$80,000.00   \$22.500   \$22.500   \$80,000.00   \$22.500   \$2	17	ASPHALT FOR TACK COAT	450	SYS	\$5.00	\$2,250.00	\$1.25	\$562.50	\$0.25	\$112.50	\$1.05	\$472.50	\$1.25	\$562.50	\$1.00	\$450.00	\$1.10	\$495.00
20 D-1 CONTRACTION JOINT 2212 LFT \$18.00 \$39.816.00 \$10.25 \$22.673.00 \$18.00 \$39.816.00 \$12.08 \$26,720.96 \$10.25 \$22.673.00 \$11.00 \$24,332.00 \$8.80 \$19.465.80 21 PAVERS, VEHICULAR, COLOR 1 556 \$YS \$225.00 \$80,100.00 \$20.00 \$22.600 \$22.200 \$79.032.00 \$185.92 \$66,187.52 \$175.00 \$82,300.00 \$27.00 \$	18	PCCP, 9 IN.	2966	SYS	\$85.00	\$252,110.00	\$43.00	\$127,538.00	\$84.00	\$249,144.00	\$46.36	\$137,503.76	\$60.00	\$177,960.00	\$50.00	\$148,300.00	\$61.85	\$183,447.10
21 PAVERS, VEHICULAR, COLOR 1 356 SYS \$225.00 \$80,100.00 \$260.00 \$226.00 \$22.00 \$79,032.00 \$185.92 \$66.187.52 \$175.00 \$82,300.00 \$275.00 \$97,900.00 \$166.45 \$59,256.20 \$22 PAVERS, VEHICULAR, COLOR 2 75 SYS \$225.00 \$163,600.00 \$39.00 \$86,00 \$145,590.00 \$195.33 \$14,649.75 \$175.00 \$313,125.00 \$331.00 \$24,825.00 \$21,593.50 \$159,305.00 \$220.00 \$151,300.00 \$39.00 \$86,00 \$145,590.00 \$60.0 \$145,590.00 \$60.75 \$134,014.50 \$485.00 \$99,270.00 \$80.00 \$127,949.00 \$51.25 \$113,007.50 \$244.00 \$195.30 \$10,000.00 \$10,000 \$10	19	PCCP, 9 IN., COLORED	390	SYS	\$100.00	\$39,000.00	\$105.00	\$40,950.00	\$145.00	\$56,550.00	\$140.29	\$54,713.10	\$105.00	\$40,950.00	\$114.00	\$44,460.00	\$83.45	\$32,545.50
22 PAVERS, VEHICULAR, COLOR 2 75 SYS \$225.00 \$16,875.00 \$315.00 \$23,625.00 \$24,200 \$18,150.00 \$195.33 \$14,649.75 \$175.00 \$313,125.00 \$331.00 \$24,825.00 \$212.50 \$15,937.50 \$23 SIDEWALK, CONCRETE 2206 SYS \$50.00 \$110,300.00 \$390.00 \$800.00 \$4,000.00 \$13,400.00 \$6,700.00 \$50.00 \$14,500.00 \$50.00 \$17,500.00 \$17	20	D-1 CONTRACTION JOINT	2212	LFT	\$18.00	\$39,816.00	\$10.25	\$22,673.00	\$18.00	\$39,816.00	\$12.08	\$26,720.96	\$10.25	\$22,673.00	\$11.00	\$24,332.00	\$8.80	\$19,465.60
23 SIDEWALK, CONCRETE 2206 SYS \$50.00 \$110,300.00 \$39.00 \$86,034.00 \$66.00 \$145,596.00 \$60.75 \$134,014.50 \$45.00 \$99,270.00 \$58.00 \$127,948.00 \$51.25 \$113,057.50 \$24.00 \$150.00 \$100.	21	PAVERS, VEHICULAR, COLOR 1	356	SYS	\$225.00	\$80,100.00	\$260.00	\$92,560.00	\$222.00	\$79,032.00	\$185.92	\$66,187.52	\$175.00	\$62,300.00	\$275.00	\$97,900.00	\$166.45	\$59,256.20
23 SIDEWALK, CONCRETE 2206 SYS \$50.00 \$110,300.00 \$39.00 \$86,034.00 \$66.00 \$145,596.00 \$60.75 \$134,014.50 \$45.00 \$99,270.00 \$58.00 \$127,948.00 \$51.25 \$113,057.50 \$24.00 \$150.00 \$100.	22	PAVERS, VEHICULAR, COLOR 2	75	SYS	\$225.00	\$16,875.00	\$315.00	\$23,625.00	\$242.00	\$18,150.00	\$195.33	\$14,649.75	\$175.00	\$13,125.00	\$331.00	\$24,825.00	\$212.50	\$15,937.50
24 STEPS, CONCRETE 5 SYS \$100.00 \$500.00 \$800.00 \$4,000.00 \$1,340.00 \$6,700.00 \$593.55 \$2,967.75 \$350.00 \$1,750.00 \$800.00 \$4,000.00 \$750.15 \$3,750.75 \$25 PARKING BARRIER 50 EACH \$75.00 \$2,750.00 \$200.00 \$10,000.00 \$10,000.00 \$5,000.00 \$89.48 \$4.474.00 \$125.00 \$5,250.00 \$130.00 \$6,500.00 \$66.00 \$3,300.00 \$20.00 \$20.00 \$10,000.00	23	SIDEWALK, CONCRETE	2206		\$50.00		\$39.00	· ·	\$66.00	\$145,596.00					\$58.00		\$51.25	
25 PARKING BARRIER 50 EACH \$75.00 \$3,750.00 \$20.00 \$10,000.00 \$100.00 \$5,000.00 \$89.48 \$4,474.00 \$125.00 \$6,250.00 \$130.00 \$6,600.00 \$66.00 \$3,300.00 \$26 CURB RAMP, CONCRETE 154 SYS \$150.00 \$23,100.00 \$215.00 \$33,110.00 \$155.00 \$23,870.00 \$119.55 \$18,410.70 \$225.00 \$34,650.00 \$310.00 \$47,740.00 \$153.10 \$23,577.40 \$25.00 \$40,000 \$20.00 \$10,000 \$20.00 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$10,000 \$20.00 \$20.00 \$10,000 \$20.00 \$20.00 \$10,000 \$20.00 \$20.00 \$10,000 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$		-	5		\$100.00										\$800.00		\$750.15	
26 CURB RAMP, CONCRETE 154 SYS \$150.00 \$23,100.00 \$215.00 \$33,110.00 \$155.00 \$23,870.00 \$119.55 \$18,410.70 \$225.00 \$34,650.00 \$310.00 \$47,740.00 \$153.10 \$22,577.40 \$27 DETECTABLE WARNING SURFACES 56 SYS \$225.00 \$12,600.00 \$285.00 \$15,960.00 \$235.00 \$13,160.00 \$225.81 \$14,157.35 \$200.00 \$11,200.00 \$285.00 \$15,960.00 \$220.00 \$12,200.00 \$12,2			50				·		·									
27 DETECTABLE WARNING SURFACES 56 SYS \$225.00 \$12,600.00 \$285.00 \$15,960.00 \$235.00 \$13,160.00 \$252.81 \$14,157.36 \$20.00 \$11,200.00 \$285.00 \$15,960.00 \$20.00 \$12,320.00 \$20.00 \$12,320.00 \$20.00 \$12,320.00 \$20.00 \$12,320.00 \$20.00 \$10.00 \$20.00 \$20.00 \$10.00 \$20		CURB RAMP. CONCRETE			-								•		•		-	
28 CURB, CONCRETE, INTEGRAL  1850 LFT  \$25.00  \$44,250.00  \$24.00  \$44,400.00  \$24.00  \$44,400.00  \$34.19  \$63,251.50  \$25.00  \$46,250.00  \$30.00  \$55,500.00  \$20.05  \$37,092.50  \$29 CURB, CONCRETE, FLUSH  180 LFT  \$35.00  \$6,300.00  \$105.00  \$105.00  \$18,900.00  \$75.00  \$13,500.00  \$35.22  \$6,339.60  \$75.00  \$13,500.00  \$10,000.00  \$86.00  \$17,200.00  \$24.90  \$44,400.00  \$34.14,000.00  \$35.20  \$35.20  \$35.20  \$36,300.00  \$10,000.00  \$86.00  \$17,200.00  \$24.90  \$44,400.00  \$36.77  \$7,354.00  \$36.77  \$7,354.00  \$50.00  \$10,000.00  \$86.00  \$11,200.00  \$11,300.00  \$24.90  \$44,400.00  \$44,400.00  \$35.20  \$44,400.00  \$35.21  \$44,400.00  \$35.22  \$6,339.60  \$75.00  \$10,000.00  \$86.00  \$10,000.00  \$86.00  \$17,200.00  \$24.90  \$44,900.00  \$44,900.00  \$44,400.00  \$36.77  \$7,354.00  \$36.77  \$7,354.00  \$50.00  \$10,000.00  \$86.00  \$11,200.00  \$11,300.00  \$11,200  \$1		· ·						· ·									•	
29 CURB, CONCRETE, FLUSH 180 LFT \$35.00 \$6,300.00 \$105.00 \$18,900.00 \$75.00 \$13,500.00 \$35.22 \$6,339.60 \$75.00 \$13,500.00 \$21,600.00 \$21,600.00 \$23.00 \$4,140.00 \$0.00 \$14,400.0						· · · · · · · · · · · · · · · · · · ·		·										
30 CURB, CONCRETE 200 LFT \$35.00 \$,000.00 \$72.00 \$14,400.00 \$74.00 \$14,800.00 \$36.77 \$7,354.00 \$50.00 \$10,000.00 \$86.00 \$17,200.00 \$24.90 \$4,980.00 \$10,000 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$80.00 \$10,000 \$10,																		
31 PCCP FOR APPROACHES, 6 IN. 80 SYS \$75.00 \$6,000.00 \$100.00 \$8,000.00 \$100.00 \$83.00 \$6,640.00 \$53.34 \$4,267.20 \$100.00 \$8,000.00 \$142.00 \$11,360.00 \$100.35 \$8,028.00 \$2 PCCP FOR APPROACHES, 9 IN. 270 SYS \$80.00 \$21,600.00 \$100.00 \$27,000.00 \$74.00 \$19,980.00 \$69.19 \$18,681.30 \$100.00 \$27,000.00 \$126.00 \$34,020.00 \$112.25 \$30,307.50 \$100.00 \$100.																		
32 PCCP FOR APPROACHES, 9 IN. 270 SYS \$80.00 \$21,600.00 \$100.00 \$27,000.00 \$74.00 \$19,980.00 \$69.19 \$18,681.30 \$100.00 \$27,000.00 \$126.00 \$34,020.00 \$112.25 \$30,307.50 \$130,000 \$126.		·															· · · · · · · · · · · · · · · · · · ·	
MOBILIZATION AND DEMOBILIZATION   1   EACH   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$525.00   \$525.00   \$525.00   \$525.00   \$350.00   \$350.00   \$500.00   \$500.00   \$550.00		,		_				· ·		·								
34       SODDING, NURSERY       1210       SYS       \$3.50       \$4,235.00       \$12.35       \$14,943.50       \$3.68       \$4,452.80       \$5.00       \$6,050.00       \$18.00       \$21,780.00       \$3.85       \$4,658.50         35       EROSION CONTROL BLANKET       1013       SYS       \$3.50       \$3,545.50       \$1.00       \$1,013.00       \$1.10       \$1,114.30       \$1.05       \$1,063.65       \$1.50       \$1,519.50       \$8.00       \$8,104.00       \$1.10       \$1,114.30         36       MULCHED SEEDING, TYPE U       1837       SYS       \$2.00       \$3,674.00       \$12.00       \$22,044.00       \$10.15       \$18,645.55       \$1.42       \$2,608.54       \$1.00       \$1,837.00       \$1.50       \$2,755.50         37       FIELD OFFICE, B       14       MONTH       \$1,800.00       \$25,200.00       \$1,700.00       \$23,800.00       \$2,125.00       \$29,750.00       \$1,986.38       \$27,809.32       \$1,250.00       \$1,700.00       \$23,800.00       \$1,459.55       \$20,433.70         38       HMA FOR STRUCTURE INSTALLATION       695       TON       \$85.00       \$59,075.00       \$38,225.00       \$93.00       \$64,635.00       \$126.21       \$87,715.95       \$125.00       \$86,875.00       \$136.00       \$94,520.00 </td <td></td> <td>MOBILIZATION AND DEMOBILIZATION</td> <td>1</td> <td></td> <td></td> <td><u> </u></td> <td></td> <td>·</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$550.00</td>		MOBILIZATION AND DEMOBILIZATION	1			<u> </u>		·										\$550.00
35 EROSION CONTROL BLANKET 1013 SYS \$3.50 \$3,545.50 \$1.00 \$1,013.00 \$1.10 \$1,114.30 \$1.05 \$1,063.65 \$1.50 \$1,519.50 \$8.00 \$8,104.00 \$1.10 \$1,114.30 \$1.14.30 \$1.05	34		1210	SYS	\$3.50	\$4,235.00	\$3.50	\$4,235.00	\$12.35	\$14,943.50	\$3.68	\$4,452.80	\$5.00	\$6,050.00	\$18.00	\$21,780.00	\$3.85	\$4,658.50
36 MULCHED SEEDING, TYPE U 1837 SYS \$2.00 \$3,674.00 \$12.00 \$22,044.00 \$10.15 \$18,645.55 \$1.42 \$2,608.54 \$1.00 \$1,837.00 \$10.00 \$18,370.00 \$1.50 \$2,755.50 \$1.40 OFFICE, B 14 MONTH \$1,800.00 \$25,200.00 \$1,700.00 \$23,800.00 \$23,800.00 \$23,800.00 \$23,800.00 \$23,800.00 \$1,986.38 \$27,809.32 \$1,250.00 \$17,500.00 \$1,700.00 \$23,800.00 \$1,459.55 \$20,433.70 \$1.00 \$1,459.55 \$1.40 OFFICE, B \$		·		_														
37 FIELD OFFICE, B 14 MONTH \$1,800.00 \$25,200.00 \$1,700.00 \$23,800.00 \$2,125.00 \$29,750.00 \$1,986.38 \$27,809.32 \$1,250.00 \$17,500.00 \$1,700.00 \$23,800.00 \$1,459.55 \$20,433.70 \$1,986.38 \$1,250.00 \$1,700.00 \$1,700.00 \$1,700.00 \$1,459.55 \$20,433.70 \$1,459.55 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,250.00								· ·										
38 HMA FOR STRUCTURE INSTALLATION 695 TON \$85.00 \$59,075.00 \$55.00 \$38,225.00 \$93.00 \$64,635.00 \$126.21 \$87,715.95 \$125.00 \$86,875.00 \$136.00 \$94,520.00 \$132.25 \$91,913.75		•															•	
		· ·					·	· ·										
	39	PIPE, TYPE 2, CIRCULAR, 12 IN.	638	CLFT	\$40.00	\$25,520.00	\$40.00	\$25,520.00	\$48.00		\$42.25		\$40.00	\$25,520.00	\$68.00	\$43,384.00	\$40.50	\$25,839.00

	DAGE DID			ENGINEER'	S ESTIMATE	CALUM	ET CIVIL	MILES	TONE	SCH	UTT-	WH	ITE	MORI		_	D
-	BASE BID		,			CONTRA			ACTORS	LOOK		CONSTR		CONSTR	-		PANY
Item No.	Description	Quantity	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit	Extended Price	Unit	Extended Price	Unit	Extended Price	Unit	Extended Price	Unit	Extended Price
40	PIPE, TYPE 2, CIRCULAR, 15 IN.	323	LFT	\$50.00	\$16,150.00	\$49.00	\$15,827.00	\$58.00	\$18,734.00	\$53.09	\$17,148.07	\$50.00	\$16,150.00	\$75.00	\$24,225.00	\$46.25	\$14,938.75
41	PIPE, TYPE 2, CIRCULAR, 18 IN.	143	LFT	\$60.00	\$8,580.00	\$51.00	\$7,293.00	\$66.00	\$9,438.00	\$59.90	\$8,565.70	\$60.00	\$8,580.00	\$113.00	\$16,159.00	\$55.45	\$7,929.35
42	PIPE, TYPE 2, CIRCULAR, 30 IN.	916	LFT	\$80.00	\$73,280.00	\$80.00	\$73,280.00	\$88.00	\$80,608.00			\$75.00	\$68,700.00	\$181.00	\$165,796.00	\$78.05	\$71,493.80
43	STORMWATER QUALITY STRUCTURE	1	EACH	\$30,000.00	\$30,000.00	\$55,000.00	\$55,000.00	\$51,500.00	\$51,500.00	\$54,768.75	\$54,768.75	\$42,500.00	\$42,500.00	\$60,000.00	\$60,000.00	\$49,990.55	\$49,990.55
44	INLET, J10	7	EACH	\$2,200.00	\$15,400.00	\$2,050.00	\$14,350.00	\$2,300.00	\$16,100.00	\$1,703.84	\$11,926.88	\$2,500.00	\$17,500.00	\$2,500.00	\$17,500.00	\$2,256.35	\$15,794.45
45	INLET, M10	9	EACH	\$2,300.00	\$20,700.00	\$2,050.00	\$18,450.00	\$2,200.00	\$19,800.00	\$1,768.07	\$15,912.63	\$2,500.00	\$22,500.00	\$2,500.00	\$22,500.00	\$2,213.05	\$19,917.45
46	MANHOLE, C4	1	EACH	\$3,300.00	\$3,300.00	\$3,500.00	\$3,500.00	\$2,600.00	\$2,600.00	\$2,599.43	\$2,599.43	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$2,193.25	\$2,193.25
47	MANHOLE, C13	1	EACH	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$3,400.00	\$3,400.00	\$5,539.05	\$5,539.05	\$3,250.00	\$3,250.00	\$3,900.00	\$3,900.00	\$2,657.50	\$2,657.50
48	MANHOLE, K4	1	EACH	\$5,500.00	\$5,500.00	\$6,500.00	\$6,500.00	\$10,700.00	\$10,700.00	\$14,937.36	\$14,937.36	\$7,000.00	\$7,000.00	\$7,700.00	\$7,700.00	\$5,106.30	\$5,106.30
49	MANHOLE, K4 MODIFIED	<u>'</u>	EACH	\$7,000.00	\$7,000.00	\$6,500.00	\$6,500.00	\$9,900.00	\$9,900.00	\$7,857.00	\$7,857.00	\$7,500.00	\$7,500.00	\$7,700.00	\$7,700.00	\$5,106.30	\$5,106.30
50	MANHOLE, J4	6	EACH	\$4,800.00	\$28,800.00	\$4,400.00	\$26,400.00	\$4,000.00	\$24,000.00	\$5,455.49	\$32,732.94	\$5,000.00	\$30,000.00	\$4,500.00	\$27,000.00	\$3,630.90	\$21,785.40
		4	EACH		· ·		•	· ·				· ·	·				
51	HEADWALL RIPRAP, CLASS 2	100		\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	\$7,900.00	\$7,900.00	\$4,330.43	\$4,330.43	\$1,500.00	\$1,500.00 \$9,750.00	\$3,600.00	\$3,600.00	\$3,134.00	\$3,134.00
52	,	130	TONS	\$80.00	\$10,400.00	\$69.00	\$8,970.00	\$100.00	\$13,000.00	\$69.13	\$8,986.90	\$75.00		\$88.00	\$11,440.00	\$52.70	\$6,851.00
53	GEOTEXTILE FOR RIPRAP, TYPE 2B	130	SYS	\$25.00	\$3,250.00	\$13.00	\$1,690.00	\$10.00	\$1,300.00	\$5.22	\$678.60	\$5.00	\$650.00	\$4.00	\$520.00	\$8.35	\$1,085.50
54	SIGN POST, ROUND ALUMINUM	39	LFT	\$25.00	\$975.00	\$89.50	\$3,490.50	\$94.00	\$3,666.00	\$93.98	\$3,665.22	\$89.50	\$3,490.50	\$75.00	\$2,925.00	\$23.30	\$908.70
55	SIGN, SHEET, WITH LEGEND, 0.080 IN.	19	SFT	\$25.00	\$475.00	\$77.50	\$1,472.50	\$80.00	\$1,520.00	\$81.38	\$1,546.22	\$77.50	\$1,472.50	\$34.00	\$646.00	\$26.10	\$495.90
56	LINE, PAINT, SOLID, WHITE, 4 IN.	256	LFT	\$0.50	\$128.00	\$5.00	\$1,280.00	\$5.25	\$1,344.00	\$5.25	\$1,344.00	\$5.00	\$1,280.00	\$0.50	\$128.00	\$0.30	\$76.80
57	LINE, PAINT, SOLID, YELLOW, 4 IN.	1945	LFT	\$0.50	\$972.50	\$1.00	\$1,945.00	\$1.05	\$2,042.25	\$1.05	\$2,042.25	\$1.00	\$1,945.00	\$0.50	\$972.50	\$0.30	\$583.50
58	TRANSVERSE MARKING, PAINT, STOP LINE, WHITE, 24 IN.	40	LFT	\$2.50	\$100.00	\$10.00	\$400.00	\$10.55	\$422.00	\$10.50	\$420.00	\$10.00	\$400.00	\$5.00	\$200.00	\$1.95	\$78.00
59	PIPE, SANITARY, 12 IN.	311	LFT	\$85.00	\$26,435.00	\$60.00	\$18,660.00	\$65.00	\$20,215.00	\$80.36	\$24,991.96	\$40.00	\$12,440.00	\$145.00	\$45,095.00	\$41.15	\$12,797.65
60	PIPE, SANITARY, 15 IN.	482	LFT	\$95.00	\$45,790.00	\$75.00	\$36,150.00	\$70.00	\$33,740.00	\$85.03	\$40,984.46	\$50.00	\$24,100.00	\$137.00	\$66,034.00	\$43.70	\$21,063.40
61	MANHOLE, SANITARY, TYPE A	3	EACH	\$4,500.00	\$13,500.00	\$4,500.00	\$13,500.00	\$5,000.00	\$15,000.00	\$6,621.75	\$19,865.25	\$4,500.00	\$13,500.00	\$7,700.00	\$23,100.00	\$3,949.75	\$11,849.25
62	MANHOLE, SANITARY, TYPE B, OUTSIDE DROP	1	EACH	\$6,500.00	\$6,500.00	\$13,500.00	\$13,500.00	\$12,000.00	\$12,000.00	\$11,637.00	\$11,637.00	\$7,500.00	\$7,500.00	\$8,700.00	\$8,700.00	\$7,604.45	\$7,604.45
63	SANITARY SERVICE CONNECTION	13	EACH	\$1,000.00	\$13,000.00	\$1,350.00	\$17,550.00	\$1,100.00	\$14,300.00	\$637.88	\$8,292.44	\$400.00	\$5,200.00	\$1,700.00	\$22,100.00	\$330.60	\$4,297.80
64	6" SANITARY CLEANOUT	13	EACH	\$750.00	\$9,750.00	\$85.00	\$1,105.00	\$700.00	\$9,100.00	\$424.79	\$5,522.27	\$600.00	\$7,800.00	\$2,500.00	\$32,500.00	\$282.40	\$3,671.20
65	SANITARY SEWER LATERAL, 6 IN.	389	LFT	\$45.00	\$17,505.00	\$58.00	\$22,562.00	\$60.00	\$23,340.00	\$65.34	\$25,417.26	\$35.00	\$13,615.00	\$56.00	\$21,784.00	\$43.45	\$16,902.05
66	SANITARY MANHOLE SPECIAL CONNECTION	4	EACH	\$1,500.00	\$6,000.00	\$2,200.00	\$8,800.00	\$5,500.00	\$22,000.00	\$1,113.75	\$4,455.00	\$950.00	\$3,800.00	\$5,800.00	\$23,200.00	\$745.75	\$2,983.00
67	WATER MAIN, 12 IN.	1308	LFT	\$110.00	\$143,880.00	\$61.00	\$79,788.00	\$53.00	\$69,324.00	\$63.18	\$82,639.44	\$50.00	\$65,400.00	\$114.00	\$149,112.00	\$49.20	\$64,353.60
68	WATER MAIN, 8 IN.	9	LFT	\$100.00	\$900.00	\$120.00	\$1,080.00	\$53.00	\$477.00	\$420.38	\$3,783.42	\$100.00	\$900.00	\$145.00	\$1,305.00	\$198.50	\$1,786.50
69	WATER MAIN, 4 IN.	1	LFT	\$65.00	\$65.00	\$950.00	\$950.00	\$53.00	\$53.00	\$732.75	\$732.75	\$100.00	\$100.00	\$175.00	\$175.00	\$603.85	\$603.85
70	FIRE HYDRANT ASSEMBLY	4	EACH	\$4,500.00	\$18,000.00	\$5,400.00	\$21,600.00	\$5,000.00	\$20,000.00	\$5,529.15	\$22,116.60	\$7,500.00	\$30,000.00	\$8,500.00	\$34,000.00	\$6,101.25	\$24,405.00
71	WATER SERVICE CONNECTION	21	EACH	\$750.00	\$15,750.00	\$900.00	\$18,900.00	\$500.00	\$10,500.00	\$752.85	\$15,809.85	\$475.00	\$9,975.00	\$1,800.00	\$37,800.00	\$421.40	\$8,849.40
72	WATER SERVICE LINE, 0.75 IN.	642	LFT	\$30.00	\$19,260.00	\$46.00	\$29,532.00	\$35.00	\$22,470.00	\$24.64	\$15,818.88	\$12.50	\$8,025.00	\$48.00	\$30,816.00	\$36.45	\$23,400.90
73	12 IN. GATE VALVE WITH VALVE BOX	4	EACH	\$6,000.00	\$24,000.00	\$2,600.00	\$10,400.00	\$3,000.00	\$12,000.00	\$3,131.60	\$12,526.40	\$2,750.00	\$11,000.00	\$4,600.00	\$18,400.00	\$2,747.60	\$10,990.40
74	8 IN. GATE VALVE WITH VALVE BOX	2	EACH	\$5,500.00	\$11,000.00	\$1,400.00	\$2,800.00	\$1,600.00	\$3,200.00	\$1,684.40	\$3,368.80	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00	\$1,730.50	\$3,461.00
75	6 IN. GATE VALVE WITH VALVE BOX	1	EACH	\$4,500.00	\$4,500.00	\$1,025.00	\$1,025.00	\$1,250.00	\$1,250.00	\$1,268.60	\$1,268.60	\$1,250.00	\$1,250.00	\$2,500.00	\$2,500.00	\$1,393.40	\$1,393.40
76	4 IN. X 4 IN. TAPPING SLEEVE 4 IN. X 4 IN. TAPPING VALVE	1	EACH	\$4,000.00	\$4,000.00	\$4,250.00	\$4,250.00	\$6,000.00	\$6,000.00	\$5,396.22	\$5,396.22	\$3,250.00	\$3,250.00	\$9,500.00	\$9,500.00	\$3,994.80	\$3,994.80
77	DUCTILE IRON FITTINGS	508	LBS	\$25.00	\$12,700.00	\$22.00	\$11,176.00	\$18.00	\$9,144.00	\$15.69	\$7,970.52	\$20.00	\$10,160.00	\$15.00	\$7,620.00	\$22.60	\$11,480.80
78	ELECTRIC DUCT BANK, 2 CONDUIT PACKAGE	482	LFT	\$40.00	\$19,280.00	\$63.00	\$30,366.00	\$58.25	\$28,076.50	\$45.68	\$22,017.76	\$60.00	\$28,920.00	\$95.00	\$45,790.00	\$52.30	\$25,208.60
79	ELECTRIC DUCT BANK, 4 CONDUIT PACKAGE	1127	LFT	\$80.00	\$90,160.00	\$64.50	\$72,691.50	\$64.60	\$72,804.20	\$52.50	\$59,167.50	\$75.00	\$84,525.00	\$104.00	\$117,208.00	\$59.30	\$66,831.10
80	ELECTRIC DUCT BANK, 6 CONDUIT PACKAGE	1624	LFT	\$120.00	·	\$83.00	\$134,792.00		\$121,800.00		\$105,722.40	\$90.00	. ,		\$199,752.00	\$73.10	
81	COMMUNICATION CONDUIT, 2 IN.	4442	LFT	\$8.00	\$35,536.00	\$10.75	\$47,751.50	\$10.90	\$48,417.80	\$7.88	\$35,002.96	\$8.00	\$35,536.00	\$13.00	\$57,746.00	\$10.15	
82	COMMUNICATION CONDUIT, 4 IN.	8884	LFT	\$16.00	\$142,144.00	\$13.75	\$122,155.00	\$13.00	\$115,492.00	\$11.55	\$102,610.20	\$12.50	\$111,050.00	\$9.00	\$79,956.00	\$13.25	\$117,713.00

			Ī	ENGINEER'S	SESTIMATE	CALUM	ET CIVIL	MILES	TONE	SCH	UTT-	WH	ITE	MORE	PHEY	3	D
	BASE BID					CONTRA	ACTORS	CONTRA	ACTORS	LOOK	ABILL	CONSTR	RUCTION	CONSTR	UCTION	COM	PANY
				Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Item No.	Description	Quantity	Unit	Price	Price	Price	Price		Price		Price		Price		Price		Price
83	ELECTRIC MANHOLE	16	EACH	\$8,000.00	\$128,000.00	\$17,200.00	\$275,200.00	\$16,688.00	\$267,008.00	\$15,008.70	\$240,139.20	\$20,000.00	\$320,000.00	\$17,000.00	\$272,000.00	\$16,121.80	\$257,948.80
84	COMMUNICATION HANDHOLE, INSTALL	0	EACH		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
85	COMMUNICATION HANDHOLE	39	EACH	\$2,500.00	\$97,500.00	\$3,650.00	\$142,350.00	\$2,700.00	\$105,300.00	\$2,775.15	\$108,230.85	\$2,750.00	\$107,250.00	\$2,400.00	\$93,600.00	\$2,841.25	\$110,808.75
86	9200 W. CANAL STREET, ELECTRIC SERVICE UPGRADES	1	LS		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
87	9304 W. SMITH STREET, ELECTRIC SERVICE UPGRADES	1	LS		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
88	BOLLARD, LIGHTED, FIXED, S2	8	EACH	\$1,300.00	\$10,400.00	\$3,692.00	\$29,536.00	\$3,880.00	\$31,040.00	\$3,876.60	\$31,012.80	\$3,692.00	\$29,536.00	\$3,250.00	\$26,000.00	\$3,968.90	\$31,751.20
89	BOLLARD, LIGHTED, REMOVABLE, S4	12	EACH	\$1,500.00	\$18,000.00	\$4,462.00	\$53,544.00	\$4,696.00	\$56,352.00	\$4,685.10	\$56,221.20	\$4,462.00	\$53,544.00	\$3,950.00	\$47,400.00	\$4,796.65	\$57,559.80
90	LIGHTING, POLE, S1	17	EACH	\$6,500.00	\$110,500.00	\$3,008.00	\$51,136.00	\$3,166.00	\$53,822.00	\$3,158.40	\$53,692.80	\$3,008.00	\$51,136.00	\$3,600.00	\$61,200.00	\$3,233.60	\$54,971.20
91	LIGHTING, POLE, S3	4	EACH	\$6,500.00	\$26,000.00	\$3,294.00	\$13,176.00	\$3,467.00	\$13,868.00	\$3,458.70	\$13,834.80	\$3,294.00	\$13,176.00	\$4,300.00	\$17,200.00	\$3,541.05	\$14,164.20
92	LITTER RECEPTACLE	6	EACH	\$1,625.00	\$9,750.00	\$1,150.00	\$6,900.00	\$1,572.00	\$9,432.00	\$1,832.85	\$10,997.10	\$2,000.00	\$12,000.00	\$2,400.00	\$14,400.00	\$1,765.60	\$10,593.60
93	TREE GRATE	14	EACH	\$2,100.00	\$29,400.00	\$2,750.00	\$38,500.00	\$2,963.00	\$41,482.00	\$3,079.03	\$43,106.42	\$2,500.00	\$35,000.00	\$2,850.00	\$39,900.00	\$2,289.50	\$32,053.00
94	SITE ELECTRICAL	1	LS	\$20,000.00	\$20,000.00	\$43,157.00	\$43,157.00	\$45,425.00	\$45,425.00	\$45,314.85	\$45,314.85	\$50,000.00	\$50,000.00	\$56,000.00	\$56,000.00	\$46,393.80	\$46,393.80
95	TREE, 15 GAL.	27	EACH	\$750.00	\$20,250.00	\$230.00	\$6,210.00	\$242.00	\$6,534.00	\$241.50	\$6,520.50	\$295.00	\$7,965.00	\$230.00	\$6,210.00	\$253.00	\$6,831.00
96	SHRUB, 24 IN.	29	EACH	\$64.00	\$1,856.00	\$57.00	\$1,653.00	\$61.00	\$1,769.00	\$59.85	\$1,735.65	\$58.00	\$1,682.00	\$57.00	\$1,653.00	\$62.70	\$1,818.30
97	PLANT 24 IN.	55	EACH	\$35.00	\$1,925.00	\$13.50	\$742.50	\$14.25	\$783.75	\$14.18	\$779.90	\$20.00	\$1,100.00	\$13.50	\$742.50	\$14.85	\$816.75
98	PLANT, #1 CONT.	1156	EACH	\$28.00	\$32,368.00	\$12.75	\$14,739.00	\$13.40	\$15,490.40	\$13.39	\$15,478.84	\$14.75	\$17,051.00	\$12.75	\$14,739.00	\$14.05	\$16,241.80
99	MAINTAINING TRAFFIC	1	LS	\$25,000.00	\$25,000.00	\$185,101.67	\$185,101.67	\$35,680.25	\$35,680.25	\$42,025.13	\$42,025.13	\$250,000.00	·	\$100,000.00	\$100,000.00	\$15,345.35	\$15,345.35
99a	TOPSOIL	122	CYS			\$80.00	\$9,760.00	\$85.00	\$10,370.00	\$132.29	\$16,139.38	\$80.00	\$9,760.00	\$100.00	\$12,200.00	\$22.40	\$2,732.80
99b	MULCH	31	CYS			\$85.00	\$2,635.00	\$79.00	\$2,449.00	\$78.75	\$2,441.25	\$78.00	\$2,418.00	\$100.00	\$3,100.00	\$82.50	\$2,557.50
	Total Price, Base Bid			\$3,411,	752.50	\$3,377	,000.00	\$3,384,	546.00	\$3,628,	595.43	\$3,643,	000.00	\$4,186,	358.00	\$2,845,	358.40
		П		COTIMATE	CALLINA	== 00 //I	=0	TONE	0011		\A/I I		MODI			_	

			ENGINEER'	S ESTIMATE	CALUM	ET CIVIL	MILES'	TONE	SCH	UTT-	WH	ITE	MOR	PHEY	3	D
	BID ALTERNATE 1				CONTRA	ACTORS	CONTRA	CTORS	LOOK	ABILL	CONSTR	RUCTION	CONSTR	RUCTION	COM	PANY
			Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Item No.	Description	Quantity L	nit Price	Price	Price	Price		Price								
100	SIDEWALK UPGRADE TO PAVERS,															
100	PEDESTRIAN, COLOR 1	1640 SY	S \$126.00	\$206,640.00	\$125.00	\$205,000.00	\$117.00	\$191,880.00	\$155.14	\$254,429.60	\$130.00	\$213,200.00	\$105.00	\$172,200.00	\$155.30	\$254,692.00
101	SIDEWALK UPGRADE TO PAVERS,															
101	PEDESTRIAN, COLOR 2	365 SY	S \$126.00	\$45,990.00	\$125.00	\$45,625.00	\$118.00	\$43,070.00	\$158.00	\$57,670.00	\$135.00	\$49,275.00	\$107.00	\$39,055.00	\$159.50	\$58,217.50
102	CURB, CONCRETE, FLUSH	573 LF	T \$35.00	\$20,055.00	\$65.00	\$37,245.00	\$75.00	\$42,975.00	\$36.27	\$20,782.71	\$60.00	\$34,380.00	\$64.00	\$36,672.00	\$23.00	\$13,179.00
103	PAVER, PEDESTRIAN, EDGE RESTRAINT															
103	FAVER, FEDESTRIAN, EDGE RESTRAINT	1650 LF	T \$18.00	\$29,700.00	\$8.00	\$13,200.00	\$7.90	\$13,035.00	\$7.59	\$12,523.50	\$10.00	\$16,500.00	\$7.50	\$12,375.00	\$8.00	\$13,200.00
	Total Price, Bid Alternate 1		\$302,	385.00	\$301,0	70.00	\$290,96	60.00	\$345,4	05.81	\$313,3	55.00	\$260,3	302.00	\$339,2	288.50

	DID ALTERNATE O			ENGINEER'S	SESTIMATE	CALUMI	ET CIVIL	MILES"	TONE	SCH	UTT-	WH	ITE	MORI	PHEY	31	D
	BID ALTERNATE 2					CONTRA	ACTORS	CONTRA	CTORS	LOOK	ABILL	CONSTR	UCTION	CONSTR	RUCTION	COMP	PANY
		0 " 11"		Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Item No.	Description	Quantity	Unit	Price	Price	Price	Price		Price		Price		Price		Price	1	Price
104	PAVEMENT UPGRADE TO COLORED																
104	CONCRETE	720 S	YS	\$15.00	\$10,800.00	\$23.50	\$16,920.00	\$135.00	\$97,200.00	\$82.89	\$59,680.80	\$25.00	\$18,000.00	\$23.00	\$16,560.00	\$83.45	\$60,084.00
	CURB CHANGE FROM INTEGRAL TO																
105	STANDARD ADJACENT TO COLORED																
	CONCRETE	1250 L	FT	\$10.00	\$12,500.00	\$8.50	\$10,625.00	\$30.00	\$37,500.00	\$36.23	\$45,287.50	\$10.00	\$12,500.00	\$10.00	\$12,500.00	\$29.15	\$36,437.50
	Total Price, Bid Alternate 2			\$23,30	00.00	\$27,5	45.00	\$134,70	00.00	\$104,9	68.30	\$30,50	00.00	\$29,0	60.00	\$96,52	21.50

	DID 41 TED114TE 6		ENGINEER	'S ESTIMATE	CALUN	IET CIVIL	MILE	STONE	SCH	UTT-	WH	HITE	MOR	PHEY	?	3D
	BID ALTERNATE 3				CONTR	RACTORS	CONTR	ACTORS	LOOK	ABILL	CONST	RUCTION	CONST	RUCTION	COM	IPANY
			Unit			Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Item No.	Description	Quantity Unit	Price	Price	Price	Price		Price		Price		Price		Price		Price
106	STRUCTURAL SOIL	195 CYS	\$150.00	\$29,250.00	\$83.00	\$16,185.00	\$120.00	\$23,400.00	\$190.38	\$37,124.10	\$100.00	\$19,500.00	\$160.00	\$31,200.00	\$55.65	\$10,851.75
107	ROOT BARRIER	LFT														
	Total Price, Bid Alternate 3		\$29,	250.00	\$16,	185.00	\$23,4	400.00	\$37,1	24.10	\$19,5	500.00	\$31,2	200.00	\$10,8	351.75

				R'S ESTIMATE	CALUM	ET CIVIL	MILES	STONE	SCH	UTT-	WH	IITE	MOF	RPHEY		3D
	BASE BID				CONTR	ACTORS	CONTRA	ACTORS	LOOK	ABILL	CONST	RUCTION	CONST	RUCTION	COM	MPANY
			Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Item No.	Description	Quantity Unit	Price	Price	Price	Price		Price		Price		Price		Price		Price

				ESTIMATE	CALUME	T CIVIL	MILES	TONE	SCH	JTT-	WH	ITE	MORF	PHEY	3[	)
BID ALTERNATE 4				CONTRA	CTORS	CONTRA	CTORS	LOOK	ABILL	CONSTR	UCTION	CONSTR	UCTION	COMP	'ANY	
			Unit	Extended	Unit			Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Item No.	Description	Quantity Unit	Price	Price Price F		Price										
108	IRRIGATION	1 ALW	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
	Total Price, Bid Alternate 4		\$40,00	0.00	\$40,00	0.00	\$40,00	0.00	\$40,00	0.00	\$40,00	00.00	\$40,00	0.00	\$40,000	0.00